
1. In the upright position, crisscross the leg assemblies so the
center flattened areas are flush. The legs labeled (1) and (3)
should be on top. Be sure the legs numbered 3 and 4 are on the
same side. Insert the 7/8” Base Screw (A) through both leg
assemblies and secure with a Nut (B) as shown in Fig. 1. Using a
Philips head screwdriver, tighten the screw.
DO NOT OVER TIGHTEN AS IT COULD STRIP THE THREADS.

2. Place the Footrest Base (C) upside down on a flat surface with
the screw holes facing up. With the leg assembly upside down,
align the holes in the legs with the threaded sockets in the
footrest next to the corresponding numbers as shown in FIG. 2.

Insert the 1-7/8” Leg Assembly Screw (D) through a Washer (E)
and into each of the leg assemblies. Using a Philips head
screwdriver, loosely tighten each of the screws.

3. Attach the Handrail (F) by aligning the four holes in the handrail
with the four holes on legs 3 and 4. Insert the 2-1/4” Handrail
Screw (G) through a Washer (E) into leg assembly. On the back
side, add another Washer (E) and secure with a Nut (B). Do this
for the remaining the three holes.

4. Go back and tighten all screws and nuts.
DO NOT OVER TIGHTEN AS IT COULD STRIP THE THREADS.

Manufactured for:
Briggs Medical Service Company
1931 Norman Drive South
Waukegan, IL 60085 USA
Made in China

#910-1902-0099 8/10
©2010 Briggs Medical Service Company

Assembly Instructions

WITH HANDRAIL
Foot Stool

Safety Security Durability

�
�

If any parts are missing, do not return to the place of purchase.
Contact us at 800-622-4714.

WARNING
This product contains
natural rubber latex

which may cause
allergic reactions.

Weight Capacity: 250 lbs.

Model: 539-1902-0099

A - Base Screw 7/8” (1)
B - Nut (5)
C - Footrest Base
D - Leg Assembly Screw 1-7/8” (4)
E - Washers (8)
F - Handrail
G - Handrail Screw 2-1/4” (4)

Components List

�
�

�
�

�
�

�

1

3

A

B

4

2

1

2

3

4

1

2

3

4

D
E

C

F

G

E

B
E

Fig 1.

Fig 2.

Fig 3.

�
�


